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1. An analyst gathered the following infoﬁnation about 2 manufacturing company:

Expected cash dividends one yéar fromtoday  $6.00

Expected growth rate 7%
Common stock: {current market price) §72.00
Company tax rate 34%

The company’s after-tax cost of retained samings is closest to:

A, 10.12%.
B. 14.79%.
C. 15.33%.
D 13.52%.
2. Which of the following conditions should a firm meet to use its weighted average cost of capital for

decision-making purposes?

L All projects should be finded solely by internal sources of fipancing. o
e The firm should not matetially change its financing pol:c:cs as a result of the mvestmcnts it
undertakes.
nL The risk of the project under consideration should be esseatially the same as existing operations.
A, 1 gnly.
B. 1 and 11 only.
C. 11 and IIT only.
D. 1, I, and I
3. Which of the followiﬁg should be considered as an incrementaf cash flow when analyzmg a proposed
corporate investment? )
L Sunk costs.
L. Changes in n=t workmg capital,
1L Opportunity costs.
v, Externalities.
A, 1 and I only.
B. I and IV only-
C. il, 1L, and IV only. .
D. L 1L 11, and IV, ~
4, With corporate taxes and bankruptcy costs, the value of the firm is maximized when which of the following
isfare minimized? ' ‘
1 The wcightcd average cost of capital.
il The probability of bankruptey.
I . The cost of equity capital,
. The cost of debt capital.
A 1 only.
B. [and I} only.
C. I and IV only.
D. L, 11, and IV only.
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- structure of 25 percent debt and 75 percent equity. The firm’s after-tax eamings for the year are $6 million..

Net income =% 1,000,000 -
Total equity =% 5,000,000
“Total assets =$10,000,000
Dividend payout ratio . = 40 percent

An znalyst estimates the earnings per share and price-to-eamings ratio fora stock market series to be $43.50

- B 1866.

‘
M

Dillon Lighting Company practices a swict residual dividend policy and maiftains an optimal capital

What is the maximum amount of capital spending possible without selling new -equity? .

A $4.5 million,. :
B, $6.0 million.
C. $7.5 million.
D. $8.0 million.

According to the clientele effect of dividend.p-olicy,.which ofthe follo\;ving groups is/are attracted to high-
payout common stock? © Co )

Iv corporate investors.

il Tax-exempt investors.

1L Wealthy individual investors.

A I only.

B. 11 only.

c. 1 and II only.
D 1, and IIL. .

In its latest annual report, a company reported the following:

Based on the sustainable growth model, the most likely forecast of the company’s future eamingﬁ growth rate
is: T ) : : o
A, " 4percent

B. 6 percent,
C. 8 percent
D.. 12 percent.

In theory, a firm wariting to maximize share value should pay out as much of its earnings in dividends as* -
possible if it believes that:

investors are indifferent to the form of their return. )

the company’s future growth rate will be below its historical average.
. the company will still have positive cash flow. ‘

the company’s future returs on equity will be below its market capitalization rate:- '

gnwy

and 26 times, respectively. The dividend payout ratio for the series is 65 percent. The value-of the stock
market series is closest to: ‘ : .

A 396.
‘B. 735.
C. 3L
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‘Which of the following is NOT a component of call risk for a bond investor?

The cash flow pattam of a callabie bond is not known with cerainty.

When the issuer cails a bond, the investor is exposed ta reinvestment risk. .
The value of a callable bond-drops when expected interest-rate voiatility decreases.
The capital appreciation potential of a calleble bond is lower than a noncallable bond.

oowp

Which of the following two sources of bond risk have offsetting effects?
Default risk and interest rate risk. ' C
Reinvestment risk and default risk. C

Interest rate risk and reinvestment risk.

None of the above.

oowe

A company issues the following bonds on June 1, 1990:

Series A -, Series B
Par value $100 million $100 millien
Rating AA AA
Matunity Jupe 1,2010 June 1, 2010
Call date June 1, 1998 Non-caliable
Call price 100 -

If both bords have the same market liquidity, the yield-to-marurity on the Series A bord compared to the
Series B bond would be: o ‘

AL lower.- -

B. the same.

C. _  higher.

D. cannot be determined.

The following dizgram shows the value of a put option at expiration:
Long put '

/ Exercice price of both ogtions

/, ‘ Shnrtrp;xl
- Siock Price (3)

7 76 8O

Ignoring transaction costs, which of the following statements about the value of the put option at expiration is
TRUE? ) . .
"The value of the shart position in the put is $4 if the stock price is §76.

The value of the long position in the put is — §4 if the stock price is $76.

The long put has value when the stock price is below the 580 exercise price.

The value of the short position in the put is zeso for stock prices equaling or exceeding $76.

vawe

A put on Stock X with a strike price of $40 is priced at 52.00 per share, while a call with a strike price of $40
is priced at $3.50, What is the maximum per share foss to the writer of the put and the maximum per share
gain 10 the writer of the uncovered call?

Maximum Loss  Maximum Gain

10 Put Writer to Call Writer

A, $38.00 3 350
B. $38.00 - 33650
C. $40.00 3 350
D. $40.00 $40.00
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Which of the following is NOT an implication of risk aversion for the investment process?

The security market line is upward sloping.

The promised yield on AAA-rated bonds is higher than on A-rated bonds.

Investors expect a positive relationship between expected returmn and expected risk.

Investors prefer portfolios that lie on the efficient frontier to ather portfolios with equal rates of
retum. .

=R Rl

The correlation coefficient between Portfolio X's returns and the marker's returns is 0.95, and between
Portfolio Y's returns and the market's returns is 0.60. Which of the followmg staternents best describes the
degrze of portfolio diversification?

Both Portfolio X and Portfolic Y are well diversified. |

Both Portfolio X and Portfolio Y are poorly diversified. -

Portfolio X is well diversified and Portfolio Y is poorly diversified.

Portfolio X is poorly diversified and Portfolie Y is well diversified.

Dowe

According to the capital asset pricing model, the rate of return of a portfoho with a beta (B) of .0 and an
alpha of 0 is: .

A between R, and R,

B. the risk-free mie, Ry,

C.  BRaR). |
D. - the return on the market, R,

Stocks A, B, and C each have the same éxpcctnd FELUITE a.n& standard deviation. The fOHOWinE
table shows the cormrelations between the returns on these stocks.

Correlation of Stock Returns

Stock A Stock B Stock C
Stock A +1.0
Stock B +H).9 +1.0 .
Stock C - 40} 0.4 . +1.0

Given the above comrelations, the portfolio constructed from these stocks having the Jowest risk is a
portfolio:

equally invested in stocks A and B.

equally invested in stocks A and C.

equually invested in stocks B and C,

totally invested in stock C.

Uowp

A two-asset portfolio has the following characteristics:

Asset Expected Expected Standard  |° Weight
Return Deviation
X 0.15. 022 0.60
Y 0.10 - 0.08° 0.40
The expected return on this two-gsset portfolio ist
A, 4%.
B. 10%,
C. 13%.
D 25%,.

A U.S. investor who buys Japanese bonds will mos? likely maximize his retumn if interest rates:
fall and the dollar weakens relative to the yen.

" fall and the yen weakens relative to the dollar. ]
risc and the dollar weakens relative to the yen.
rise and the yen wcakens relative to the dollar.

TNy
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1. The average starting salary for graduates at a university is $25,000 with a standard
deviation of $2,000. A histogram of the data shows the shape to be very erratic- so
Chebyshev's Theorem should be used. How many of the graduates would have a starting
salary between 21,000 and 29,0007 (5%)

A, atleast 68%
B. atleast 75%
C. atleast 89%
D. atleast 95%

2. Given P(A) = 0.40, P(B) = 0.50, P(ANB) = 0.15. Which of the following is true? (5%)
A. A and B are independent
B. A and B are mutually exclusive
C. A and B are collectively exhaustive
D. A and B are not independent

3.A researcher is interested in estimating the difference in two population proportions. A
sample of 400 from each population results in sample proportions of .61 and .64. A 90%

confidence interval for the difference in the population proportions is . (5%)
A, -0.10100.04
B. -0.09100.03
C. -0.11t00.05
D. -0.07100.01

4.Mone Carlo Simulation analysis of a proposed capital expenditure indicates that the net
present value of the project is normallly distributed with p of $6,000 and a 5 of $4,000.
(10%)
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Discuss the risk and profitability aspects of the proposed capital expenditure.

5. FM BN —ERRBERLLATH - (10%)

6.4 3 M — 2R 2 (Type L error) B &) = 3% % (Type Il etror) » 3 4B — B E4| A - (15%)
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The following rental data are collected from ABC campus. As a measure of the demand for a umit’s
services, the variables arc defined as

RENT = total monthly rent in doilars
NO = number of persons in apartment
RM = number of rooms
Sy ! fomsle
0 male
DIST = distance from center of campus, blocks
RPP = RENT/NO = rent per person
ROOMPER = RM/NO = room per person

RENTAL DATA
RENT NO RM SEX DiST RPP =RENT/NO .
$230 2 2 1 7 $115

245 2 2 0 24 122

190 1 1 1 0 190

203 4 2 0 24 50.75

450 3 2 i 4 150

280 2 2 1 140

310 2 2 0 155

185 2 1 0 92.5

218 2 2 0 42 109

185 1 1 1 185

340 2 2 1 i70

230 2 2 0 60 115

245 1 1 1 24 245

200 2 2 0 36 100

125 1 1 0 3. 125
We estimate the models as follows.
Model I n

RPP=359 + 2008EX +118ROOMPER -0.789 DIST
St. dev. 34.09 16.59 39,14 0.5826
S=39.68 od RP=201% -~
Analysis of Variance:
Variation df S8 MS F
Reg" 3 24748 8249 524
Error 28 44081 1574

Total - 31 68330
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Model I:

't B

FaY

RPP =227+

1.03 DIST
0.5507

132ROOMPER —

37.66

34.25

St. dev.

adj. R® =28.0%

$=39.99

Analysis of Variance:

MS

88

d.f

Variation
Reg

7.02

11225
1599

22450
46380

29

Error

31 68830

Total

Model II:

30.8 + 100 SEX + 130 ROOMPER - 1._15DIST -122 ROOMPER (SEX) + 4.56 DIS’I_‘(SEX)

£

St. dev.

127

0.5749

adj.R? = 36.4%

38.95

120.

33.77

-2.058.

=37.58

5

Analysis of Variance

MS

6422

88

df.

Variation

4.55

32111

5

Reg

36719 1412

68830

26
31

Error

Total

(6%) (1} ComputeR* for models I, II, and TIL.

(30%) (2)

Use t test at 5% significance Jevel to examine the coefficients associated with each explanatory

variable in the models,

Is the demand for housing by man and woman is fundamentally different for RPP ?

(4%) (3)

Then conclude with statistical reasoning which modet is the best among the three models.

(10%) (4)
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